@ pUUhCI Asennusohje 27/02/25

J 1+
%) oy I

T920073.PK (1/7)

Asennusaika Ikdsuositus Kayttdgjia Pituus Korkeus
3h / 2hl& +14 v. kerralla 1900 mm 2400mm
2

Leveys
1680mm

Putoamiskorkeus
1320mm

EN-16630

Turva-alue
21Tm?2

©® 2023 Puuha Group Oy



(® puuha

Turva-alue

Asennusohje

27/02/25 T920073.PK (2/7)

4897

4680

1500

E . 1500

Turva-alue EN16630 mukainen 21m?2

©® 2023 Puuha Group Oy



@ pUUhCI Asennusohje 27/02/25 T920073.PK (3/7)
Mitat
1680 733
o o
~8 o
N
g
1962 o
1810

1863

3231323323323

©® 2023 Puuha Group Oy



T920073.PK (4/7)

@ pUUhCI Asennusohje 27/02/25
Osaluettelo
M00696 M00697 | 2 | |ME-03037 ME-03036 | 1 | |ME-03034 M00459 MU-00067 RU-00138 | 16

©® 2023 Puuha Group Oy



@ pUUhCI Asennusohje 27/02/25 T920073.PK (5/7)

Pintakiinnitysjalan asennus

RU-00138
/rMIOXlOO Kuusiokanta Betoniruuvi

R R

169
210
) 'HV : X/
NG
: "t/
0
N
AN
N
o

10 . o

Cadet e

Asennusohjeet

©® 2023 Puuha Group Oy



(® puuha

Asennusohje

Poikkitankojen asennus

27/02/25

T920073.PK (6/7)

MOO0696, MO0O697

RU-00012 M8x16 Aluslevy

RU-00005
M8 Nylock RST Hattumutteri

RU-00150
M8X95 RST Pultti

©® 2023 Puuha Group Oy



@ pUUhCI Asennusohje 27/02/25

Askelman asennus

T920073.PK (7/7)

MOO459

RU-00154

M10X35 Kuusiokoloruuvi
uppokanta RST

RU-00018

M10 RST Aluslevy = ]
RU-00048 K
M10 RST Nylock Hattumutteri \

RU-00155
M8X110 RST Pulﬁiv

=

RU-00012

M8 RST Aluslevy
RU-O0005

ﬁ/@?/ M8 RST Nylock Hattumutteri

©® 2023 Puuha Group Oy



